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G.C.A.2: Chords, Secants and Tangents 15

1 In the diagram below of circle O, PAC and PBD 3 Incircle O two secants, ABP and CDP, are drawn
are secants. to external point P. If mAC = 72°, and
mEB = 34°, what is the measure of £L?
1) 19°
2) 38°
3) 53°
4) 106°

IfmCD =70 and mAB = 20, what s the degree 4 In the diagram below of circle C, m/Q? = 140, and
measure of ZP?

1) 25 mZ/P = 40.
2) 35
3) 45
4) 50

2 In the diagram below of circle O, secants CF'D and

CHE are drawn from external point C.

D

] / What is mRS ?
1) 50
. 2) 60
3) 90

AN 4) 110
E

If mDE = 136° and m£C = 44°, then mFH is
1) 46°
2) 48°
3) 68°
4) 88°
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5 In the accompanying diagram, PBA and PCD are
secants to the circle. If mZP =40 and m;l-D\ =120,

find mBC .
A
B
P
D C
e
6 As shown in the diagram below, secants PWR and

PTS are drawn to circle O from external point P.

=]

If mZRPS = 35° and mFQ-*ST = 121°, determine and
state m/W?

Name:
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Answer Section

1 ANS: 1
70-20
==

25

REF: 011325ge
2 ANS: 2
136 —x

2
136 —x =88

48 =x

=44

REF: 012414geo
3 ANS: 1

in -

REF: 061918geo
4 ANS: 2

140—RS

2 40

140— RS =80
RS =60
REF: 081025ge
5 ANS:
40

REF: 088910siii

ID:



6 ANS:
121 —x
2

121 —-x =170
x =51

=35

REF: 011927geo
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